< & ¢@>(rad)

0.05

0.15f-----eo-ei-oe

B
I

..................................

.................................

T
H

< 0dy > (Um)
(0]

N
7

< op/p, > (%)

| |
Frry

|
N
I

107t 1

|
=

2 3
TPlpg)T (PCA tloobeamlinélf)

~ 0.2
N
)
=0.15
(8]
w
, 041

e

107 1

11111

{{Wﬂg atvector—t066evt

-y vt
~CREBR LR 1000wt

..................................

o

...................................

Ratio

107t 1

i G 9beamiindf”

< 8d,> (um)

|
N
T

|
2]
T

|
N
T

o

T T T

. :
107 1

2 3
TPl;g)T (PCA t%obeamlin%P



	Contents
	Page 1


